®
SCREWTEGH LINEAR MOTION SYSTEMS & SOLUTIONS

SUPPORT UNIT

|
G

=
A

I PRODUCT
MANUAL

SCREW TECHNOLOGY CO.,LTD.

Transmission parts and supporting mechanical parts. @ Professiond] Customization
Linear transmission components, such as single-axis and multi-axis components.

Precision Machinin
Motors, controllers, sensors, encoders, etc. O &

Design, assembly and debugging of non-standard automation equipment, etc. @ High Quality Assurance



CONTENT

A SEEI@S wrovrevvveeeseeoeee s
AK Serles ....................................................................................................................................
BF Serles .................................................................................................................................... m
ABOUT US BIK SEITES wevvveveemereeeeeeimiee ettt 03|
EF SO @S e
EK Serles ....................................................................................................................................
We SCREW TECHNOLOGY CO., LIMITED is
established in 2011, is a manufacturer of linear S =X
motion systems. We committed to providing
customers with linear motion solutions. Adhering to FK SerieS ....................................................................................................................................
the business philosophy of "professional, integrity,
and efficiency", we look forward to contributing to Su pport kits for miniature ball SCrewWs i
the world's automated manufacturing.
our products i elude: WBK Se”es Heavy Load ...............................................................................................
> Transmission parts and Supporting mechanical Lock Nut ....................................................................................................................................
parts, such as: ball screw and lead screw, guide rail, O
ball spline, coupling, support unit, nut seat, motor SuggeSted Mountmg End
house, adapter plate, bearing, etc.;
P Linear transmission components, such as: single
axis robot, multi-axis linear modules, electric
cylinders, and linear platforms;
P Motors, controllers, sensors, encoders, etc., such
as: stepper motors, servo motors, drivers, etc.;
P Design, assembly and debugging of non-standard
automation equipment.




Support Unit Support Unit

AF Series
AK Series
Surface )
Model No. treatment Bearing o S -
60877 OCIEL O treatment earng
Black Oxide
AF10 60827 T000A PO
Black Oxide
Electyoless 608DD 7000A P5
Nickel Plating 608DD AK10
600077 Electyoless 7000A PO
Black Oxide Nickel Platin
600027 g 7000A P5
AF12
Electyoless 6000DDU _ 7001A PO
Nickel Plating 6000DDU Black Oxide Black Oxide
(Fit for normal conditions) 7001APS
Black Oxid 000222 AK12
ack Oxide T7001A PO
NP1 600227 NElicTyﬁless Black Oxide
t . oy
Electyoless 6002DDU Ickel Flating 7001A P5 (Fit for normal conditions)
Black Oxide
620427
Black Oxide 7002A P5
AP0 620477 AK1S
Electyoless 6204DDU Electyoless 7002A PO
Nickel Plating 6204DDU Nickel Plating 7002A P5
1. ltis used double pressed steel cages for Black Oxide type 7204A PO
support units.
2. ltis used double plastic cages for Electroless Nickel Plating 72048 PO
type support units. ’ . Nickel Plating
3. All of bearings Use Japan’ s brand bearings. (fit for dust-free conditions) Black Oxide 7204A PO
7204B PO
7204A P5 (NN @&
AK20 k() (C .5 (\)
T7204A PO - .
20 © 0 Part No. Part name Qty 79048 PO
@ I/ 1 Block Body 1pc Nickel Plating
| Bearing 1 set Electyoless 7204A PO (fit for dust-free conditions)
4 d 3 CRings 1pc Nickel Plating
e 7204B PO
i} | 81 Hl
o] 7204A P5
K 1. It is used double pressed steel cages for Black Oxide type
b8 1o support units.
™ i P g = P 2. It is used double plastic cages for Electroless Nickel Plating
B L type support units.
3. All of bearings Use Japan’ s brand bearings.
Unit: mm
Model b h : :
No dl L B H 002 002 Bl H1 El P d2 X Y z E Bearing [ C-ring
AF10 8 20 60 43 35 25 36 35 19 52 6.5 9 14 11 15 60827 S08
AF12 | 10 20 60 43 35 25 36 35 19 52 6.5 9 14 11 15 | 600077 S10
AF15 15 20 80 49 40 30 41 40 19 60 6.5 9 14 11 15 600277 S15
AF20 20 26 95 58 47.5 30 56 45 19 75 6.5 11 17 15 15 620477 S20




Support Unit Support Unit

- BF Series
2-0X %)
N
\ Surf
urface )
Model No. treatment Bearing
. N , 60827
I Lo Black Oxide
60827
BF10
- Electyoless 608DD
L = w = Nickel Plating 608DD
B _ 600027
Black Oxide
1 600027
BF12
‘ ! b |l e | Nl_Elic}yPoll@s 6000DDU
P L : ickel Plating 6000DDU
! B L1, L : 00022 Black Oxide
Black Oxide — (Fit for normal conditions)
AK10~AK20 AK10~AK25 BF15
Electyoless 6002DDU
(L2) L3 Nickel Plating 6002DDU
, 620322
Black Oxide
620377
BF17
Part No. Part name Qty Electyoless 6203DDU
1 Block Body 1pc _ Nickel Plating 6203DDU
2 Bearing lset = 600477
: Black Oxide
3 Binder Pate 1pc S0 600477
4 Distance Ring 2 pcs
Electyoless 6004DDU
> Seal 2pes Nickel Plating
6 Lock Nut 1set 6004b0Y
7 Hexagon Socket Set Screw 2pcs Black Oxide 620527
620577
BF25 Nickel Plating
Electyoless 6205DDU (fit for dust-free conditions)
Nickel Plating 6205DDU
620627
Black Oxide
620627
BF30
Electyoless 6206DDU
Unit: mm Nickel Plating 6206DDU
b | h _ 620722
Modell ) | | ||| 8 |H BL|HI|EL| P |d2|x|Y|z|M|T|E]|]a]|a Black Oxide
No. 0.02 | 0.02 Bras 620722
AKI0 | 10 | 24 | 6 [ 30| 6 |70 |43 |35 25|36 |35 |19]|52 65| 9 |14|11|M3]|16]|15] -] - Electyoless 6207DDU
AK12 | 12 | 24 6 30 6 70 | 43 | 35| 25|36 | 3| 19| 52|65 9 14 (11 | M4 [ 19 | 15 - - Nickel Plating 6207DDU
AK15 | 15 | 25 6 36 5 80 | 49 | 40 | 30 | 41 [ 40 | 19 [ 60 [ 65| 11 | 17 | 15 | M4 | 22 | 15 - - ) 620877
AK17 [ 20 [ 42 | 10 |50 [ 10 |95 |58 |48 |30 5645|1975 6511715 maf[30]15]22]10 Black Oxide 620827
BF40
Electyoless 6208DDU
Nickel Plating 6208DDU
1. ltis used double pressed steel cages for Black Oxide type
support units.
2. ltis used double plastic cages for Electroless Nickel Plating
type support units.
3. All of bearings Use Japan’ s brand bearings.




Support Unit Support Unit

BK Series
Part No. Part name Qty
1 Block Body 1pc
2 Bearing 1set
3 C-Rings 1pc
2-0X @Y o 9 Q ooo
| \ I| / Black Oxide Nickel Plating
_ _ \.\ N J/ (Fit for normal conditions) (it for dust-free conditions)
i | | r
! N
| / WOl
= ) g [ ” Model No SLriaee Bearin Model No Suee Bearin
T T il ; : ' / ) treatment g ) treatment g
« IO]— Black Oxide ‘7000A PO T205A PO
1B BK10 ‘7000A P5 7205B PO
T Electyoless Nickel 7000A PO Black Oxide 7205A PO
Plating 7000A P5 7205B PO
. 7001A PO 1205A P5
BE |y Skl Black Oxide 7001A P5 B 7205A PO
L Electyoless Nickel 7001A PO Electvoless Nickel 7205B PO
Plating 7001A P5 ec yPOIaetisig Icke 7205A PO
Black Oxide 7002A PO 7205B PO
BK15 7002A P5 T205A P5
Electyoless Nickel 7002A PO 7206A PO
Plating 7002A P5 7206B PO
Black Oxide 7203A PO Black Oxide 7206A PO
BK17 7203A P5 7206B PO
Model b h Electyoless Nickel 7203A PO S0 7206A P5
No. d1 L B H Bl H1 E P d2 X Y Z Bearing C—ring Plating 7203A P5 7206A PO
— — ) 7004A PO . 7206B PO
Black Oxide 004A P5 Electyoless Nickel T206A PO
BF10 8 20 60 39 30 22 34 33 15 46 550 | 6.60 | 10.80 | 5.00 | 608ZZ | S08 BK20 Plating
Electyoless Nickel 7004A PO 7206B PO
BF12 10 20 60 43 30 25 34 33 18 46 550 | 6.60 | 10.80 | 1.50 |6000ZZ| S10 Plating 7004A P5 7206A P5
. 7207B PO
BF15 15 20 70 48 35 28 40 38 18 54 550 | 6.60 | 11.00 | 6.50 |6002zZ| S15 . ) Black Oxide
1. ltis used double pressed steel cages for Black Oxide type support BK35 7207B P5
BF17 | 17 23 86 64 43 39 50 55 28 68 | 660 | 9.00 | 14.00 | 850 |6203zz| S17 units. , . , Electyoless Nickel 72078 PO
2. It is used double plastic cages for Electroless Nickel Plating type Plating 7207B P5
BF20 20 26 88 60 44 34 52 50 22 70 6.60 9.00 | 14.00 [ 850 |[60042Z S20 support U”'t§- , ) ] 7208B PO
3. All of bearings Use Japan’ s brand bearings. Black Oxide 72088 P5
BF25 25 30 106 80 53 48 64 70 33 85 9.00 | 11.00 | 17.50 | 11.00 | 620522 S25 BK40 -
Electyoless Nickel 7208B PO
BF30 | 30 32 128 | 89 64 51 76 78 33 102 | 11.00 | 14.00 | 20.00 | 13.00 | 6206ZZ| S30 Plating 7208B P5
BF35 35 32 140 96 70 52 88 79 35 114 | 11.00 | 14.00 | 20.00 | 13.00 | 6207ZZ| S35
BF40 40 37 160 110 80 60 100 90 37 130 14.00 | 18.00 | 26.00 | 17.50 [6208zZ| S40




Support Unit Support Unit

EF Series
Part No. Part name Qty
1 Block Body 1pc Model Surface Bearin
- No. treatment g
2 Bearing lset 60677
3 Binder Pate 1pc Black Oxide P
4 Distance Ring 2 pcs EFO6
Electyoless 606V
> Seal 2pcs Nickel Plating 606V
6 Lock Nut 1set 50677
7 Hexagon Socket Set Screw 2 pcs Black Oxide 60677
EFO8
Electyoless 606V Slack Oxid
Nickel Platin ack Uxiae
& oueVv (Fit for normal conditions)
, 608727
Black Oxide
EF10 60827
(L2) :L3 Electyoless 608DD
2-OX @y Nickel Plating 608DD
9 , 600027
I\ e Black Oxide
600027
, Ay EF12
) \ / Electyoless 6000DDU
— ' ——1_f Nickel Plating
> : 6000DDU
B AR
1 ; . 600227
s Black Oxide
=T 1T 600277
ik J = . 60020DU
=T IS ] Electyoless ) )
j! QQ_L ¢ Nickel Plating 6002DDU . Nickel Platlng_ .
AR EE (fit for dust-free conditions)
! i } 620427
; ; Black Oxide
/ . - 620477
| EF20
- | c1 Ic2 Electyoless 6204DDU
o T T (oo Nickel Plating 6204DDU
VIR S
All of bearings Use Japan's brand bearings.
2-0x ay
B1 q Q
i \
Modell 3 | | | ||| s |H b | ” Bl |HL| E| P |lcalca|lda|x]| Y |z|[m]|T PartNo. |Partname| Qty N\ . I
No. 0.02 | 0.02 I f\ | ,
1 Block Body| 1pc I ((7an \\ W I R HE'_ _______
BK10 | 10 25 5 29 5 60 39 30 22 34 33 15 46 13 6 55 | 6.6 11 5 M3 16 o | T K% T ] 1
2 Bearing Iset [ i \ Sl .
BK12 | 12 25 5 29 5 60 43 30 25 34 33 18 46 13 6 55 | 6.6 11 15 | M4 19 ‘:iI 3 b i ! T
3 C-ri 1 | [ 1 i
BK15 | 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 | 6.6 11 6.5 | M4 | 22 rne pe 1 ;..i..i : i_i..i #
BK17 | 17 35 9 44 7 86 64 43 39 50 55 28 68 19 8 6.6 9 14 | 85 | M4 | 24 i E | " : "
BK20 | 20 35 8 43 8 88 60 44 34 52 50 22 70 19 8 6.6 9 14 | 85 | M4 | 30 Pt
BK25 | 25 42 12 54 9 106 | 80 53 48 64 70 33 85 22 10 9 11 18 11 M5 | 35
BK30 | 30 45 14 61 9 128 | 89 64 51 76 78 33 1102 23 11 11 14 20 13 M6 | 40 Model y b h
1 L B H Bl H1 P X Y YA Beari -ri
BK35 | 35 50 14 67 12 | 140 | 96 70 52 88 79 35 | 114 | 26 12 11 14 20 13 M8 | 50 No. 0.02 0.02 earing | C-ring
BK40 | 40 | 61 | 18 | 76 | 15 | 160 | 110 | 80 | 60 | 100 | 90 | 37 [ 130 | 33 | 14 | 14 | 18 | 26 | 18 | M8 | 50 EF06 6 12 42 25 21 13 18 20 30 5.5 9.5 11 | 606ZZ | S06
EF08 6 14 52 32 36 17 25 26 38 6.6 11 12 60677 S 06
EF10 8 20 70 43 35 25 36 24 52 9 - - 608727 S08
EF12 10 20 70 43 35 25 36 24 52 9 - - 600027 S10
EF15 15 20 80 49 40 30 41 25 60 11 - - 600227 S15
EF20 20 26 95 58 47.5 30 56 25 75 11 - - 620427 S20




Support Unit Support Unit

EK Series Part No. Part name Qty
1 Block Body 1pc
2 Bearing lset
Model Suriace Bearin
treatment g 3 Binder Pate 1pc
Black Oxide 605 4 Distance Ring 2 pcs
EK05 Electyoless 605
Nickel Plating 5 Seal 2 pcs
606
) 6 Lock Nut 1 set
Black Oxide T06A PO
706A P5 7 Hexagon Socket Set Screw 2pcs
EKO6
606
Electyoless
- - T06A PO
Nickel Plating
706A P5 oo o EKO6, EKO8
608 (L2) L3
Black Oxide 708A PO 2-0X Al ' il
708A P5 Black Oxide Q Q 9 6
EK08 s (Fit for normal conditions) q ] \'. /
1
Electyoless ) . ,
Nickel Plating 108A PO a5 X
T08A P5 A R 5 S L
7000A PO I T — =
Black Oxide = i 1050)
T000A P5 T
EK10 Pl
Electyoless 7000A PO '
Nickel Plating 7000A P5
R S 7
, 7001A PO L
Black Oxide
T001A P5
EK12
Electyoless 7001A PO
Nickel Plating 7001A P5 EK10~EK20
7002A PO 3 2-M
Black Oxide = (L2) L3
7002A P5 2-9IX \ ,
H 7002A PO '
Electyoless ; i
Nickel Plating 7002A P5 . Nickel Plating
(fit for dust-free conditions)
T204A PO
72048 PO
Black Oxide T204A PO
7204B PO T
T204A P5 &=
EK20
T204A PO
7204B PO
Electyoless
Nickel Plating 204A PO
7204B PO
T204A P5
1. All of bearings Use Japan’ s brand bearings.
el o L | 2 | 3 B H o n BL | HL | P X Y z M T
No 0.02 | 0.02
EK05 5 17 5.5 19 3.5 26 21 18 11 20 8 28 4.5 - - M3 11

EK06 6 20 5.5 22 3.5 42 25 21 13 18 20 30 5.5 9.5 11 M3 12

EKO08 8 23 7 26 4 52 32 36 17 25 26 38 6.6 11 12 M3 14
EK10 10 24 6 30 6 70 43 35 25 36 24 52 9 - - M3 16
EK12 12 24 6 30 6 70 43 35 25 36 24 52 9 - - M4 19
EK15 15 25 6 36 5 80 49 40 30 41 25 60 11 - - M4 22
EK20 20 42 10 50 10 95 58 471.5 30 56 25 75 11 - - M4 30




Support Unit Support Unit

FF Series
Part No. |Part name Qty
1 Block 1pc
Bearing 1 Pair
Surface ) -
Model treatment Bearing C-Rings 1pc
, 60627
Black Oxide
60627
FFO6
Electyoless 606V
Nickel Plating 606VV
608727
Black Oxide
60877
FF10 L.
Electyoless 608DD ) :
Nickel Plating 608DD
, F H
600077 Black Oxide - o
Black Oxide (Fit for normal conditions) P 9
600027
FF12
Electyoless 6000DDU - Z‘LZ ~—
Nickel Plating 6000DDU g : w o .
600277 & = i :
Black Oxide 00077 B lK- v
FF15 o S §
Electyoless 6002DDU S| =
Nickel Plating 6002DDU MK—\ i
) 620327 =
Black Oxide _— v
620377 = #_ i
FF17 -
Electyoless 6203DDU
Nickel Plating 6203DDU
620477 Nickel Plating
Black Oxide (fit for dust-free conditions)
620477
FF20
Electyoless 6204DDU
Nickel Plating 6204DDU
620577 Mﬁdel d1 L H F Dgé A PCD B X Y Z | Bearing | Crring
Black Oxide ©
e 620527 —
FFO6 6 10 6 4 22 . 36 28 28 34 6.5 4 60677 S06
Electyoless 6205DDU -0.02
Nickel Plating 6205DDU 0.007
FF10 8 12 7 5 28 . 43 35 35 34 6.5 4 608727 S08
620677 -0.02
Black Oxide 0.009
FE30 620622 FF12 | 10 15 7 8 3# | s | 52 42 42 | 45 8 4 | 6000zZ | S10
Electyoless 6206DDU
Nickel Plating 6206DDU RIS | 15 | 17 9 8 a0 | 500 63 | so | s2 | 55 | 95 | 55 |eo02zz | s1s
1. All of bearings Use Japan’ s brand bearings. -0.009
FF17 17 20 11 9 50 _0’025 e 62 61 6.6 11 6.5 620327 S17
-0.010
FF20 20 20 11 9 57 0.029 85 70 68 6.6 11 6.5 600427 S20
-0.010
FF25 25 24 14 10 63 0.029 98 80 79 9 14 8.5 620577 S25
-0.010
FF30 30 27 18 9 75 0.029 117 95 93 11 175 11 620627 S30




Support Unit Support Unit

FK Series
Part No. Part name Qty
1 Block Body 1pc
2 Bearing lset
3 Binder Pate 1pc
4 Distance Ring 2pcs
5 Seal 2 pcs
Q "11 = 6 Lock Nut 1set
00 o E\D’ 7 Hexagon Socket Set Screw 2 pcs
Black Oxide Nickel Plating
(Fit for normal conditions) (fit for dust-free conditions) i (2
H.. F_
Model SLfaE Bearing Model S Bearing (1
treatment treatment L
Black Oxide 605 7203A PO | |
FKO5 Electyoless Black Oxide 7203A PO Dlofok m
Nickel 605 . =1 | I
Plating FK17 203 P @ l:j Sy [
606 Electyoless 7203A PO P = @@I’ ]
. Nickel 7203A PO ALt
Black Oxide 706A PO / :
706A P5 Plating 7203A P5 T
FKO6 o 7204A PO 2 E
Electyoless e e - - A l., E
Nickel T06A PO ) .
Plating 706A P5 Black Oxide 204A PO Mounting Method A Mounting Method B
8 72048 PO
Black Oxide 708A PO FK20 204AP5
T 7204A PO
FKO8
Electyoless 608 Electyoless 12048 PO
Nickel 708A PO Nickel T204A PO
: Plating - -
Platin 72048 PO Mounting A | Mounting B
e 08APS A PE Mﬁlde' aa |l L | H|F|E Dg6 A |pPco| B & 2 x| v |z |m]| T
7000A PO o L1 T1 L2 T2
Black Oxide 7205A PO
0 — 7000A P5 RO FRos| 5 | 17 | 6 | 11 | 19 | 20 —0600027 34 | 26 | 26 | 55|35 7 | 5 | 34]|65]| 4 | M| 11
Electyoless T7000A PO p
Nickel Z000APS Black Oxide 7205A PO -0.007
Plating 0 Fros | 6 |20 | 7 | 13 | 22 | 2 [Q01 36 | 28 | 28 | 55| 35| 85| 65|34 |65 4 | M| 12
7001A PO
, 7205A P5 -
Black Oxide 7001A P5 FK25 Y Fos| 8 | 23| 9 | 14| 26 | 28 %00027 a3 35 |35 | 7] 4| 10| 7 34654 | M) 14
FK12 :
Electyoless 7001A PO
. 72058 PO -
Nickel Electyoless Fkio] 10 | 27 |10 | 17 | 30 | 34 [9999 5 | s | a2 | 75| 5 | 85| 6 | 45| 8 | 4 | M3 | 16
Plating 001APS Nickel 7205A PO -0.025
Plating
. T002A PO 7205B PO -0.009
Black Oxide e e FR12| 12 | 27 | 10 | 17 | 30 | 36 |ggoal 54 | 44 | 44 | 75| 5 | 85| 6 | 45| 8 | 4 | M4 | 19
FK15
Flectyoless 7002A PO 7206A PO Fis| 15 | 32 | 15 | 17 | 36 | 40 |29 63 | so | 52| 10| 6 | 12| 8 | 55|95 6 | mal| 2
Nickel 72068 PO -0.025
Plating 7002A P5 .
Black Oxide 7206A PO F17] 17 | 45 | 2 | 23 | 47 | s0 8822 716 e | 11| 9| 14| 12 66| 11| 10] M| 24
72068 PO 0.
FK30 T206A PS5 Fk0| 20 | 52 | 2 | 30 | s0 | 57 88;8 85 | 70 | e8| 8 | 10| 12| 14 |66 | 11| 10| mMa| 30
7206A PO by
Electyoless 72068 PO Fk25| 25 | 57 | 27 | 30 | 60 | 63 8858 98 | 8o | 79| 3| 10| 20| 17| 9 | 15| 13| wms]| 35
Nickel 7206A PO e
Platin -
& 72068 PO Fk3o| 30 | 62 | 30 | 32 [ e | 75 [00000 17 | o5 |93 | 10| 12 | 17 | 18 | 11| 18 | 15 | Me | 40
7206A P5 :




Support Unit Support Unit

WBK Series Heavy Load
Support kits for miniature ball screws (outer diameter 6mm,8mm ballscrew)
Park No. Part name Qty
1 Block Body 1pc
2 Bearing 1set
3 Binder Pate 1pc
4 Distance Ring 2 pcs
5 Seal 2 pcs

2-934 G _H o A [ LY _E___ / A
2 Set screw = al T I Ty i \
—— Z\ N Gy § ——5 g e e = ==
. [ | i A
P 8 l—m-l T ke r~ ~
(TN 4 ) g = J 2z
a \ T — L\ ] (] [S]
N st . .
N~ i L] [ 7 1] !
&1 ? el =R S — =% |
v F E :] 1 ]
B |
I—l- | ] | !. _I_..-._ | -— _..._I_
L1 L2 L1 L2
— L -— — L —
Reference no. A C d D1 D2 E F G H W U M
ModelNo | d D Dl | D2 L L1 L2 A W X Y z d1 [ v P Q
WBKO4R-11 14 25 4 13 125 9 5 5 2.5 19 10 M4x0.5
WBKI7DF | 17 | 70 | 106 | 72 | 60 | 32 15 | 8 | 88 9 14 | 85 | 45 3 58 | M5 | 10
WBKO6R-11 19 30 6 18 1 1 5 6.8 25 24 12 M6x0.75 WBK20DF | 20 | 70 | 106 | 72 | 60 | 32 | 15 | 80 | 88 9 14 | 85 | 45 3 58 | M5 | 10
WBK25DF | 25 | 85 | 130 | 90 | 66 | 33 18 | 100 | 110 | 11 | 175 | 11 | 57 4 70 | M6 | 12
WBK25DF | 25 | 85 | 130 | 90 | 81 | 48 | 18 | 100 | 110 | 11 | 175 | 11 | 57 4 70 | M6 | 12
. Locknut tightening torque Setscrew tightening torque WBK30DF | 30 | 8 | 130 | 90 | 66 | 33 18 | 100 | 110 | 11 | 175 | 11 | 57 4 70 | M6 | 12
Reference no. Applicable ballscrew f N- f N-
(reference) [N-cm] (reference) [N-cm] WBK30DF | 30 | 85 | 130 | 90 | 81 | 48 | 18 | 100 | 110 | 11 [175| 11 | 57| 4 | 0 | me | 12
WBKOAR A1 m:/ﬁgggi 7 38 (M2.5) WBK35DF | 35 | 95 | 142 | 102 | 66 | 33 18 | 106 | 121 | 11 | 175 | 11 | 69 4 80 | M6 | 12
WBK35DF | 35 | 95 | 142 | 102 | 81 | 48 | 18 | 106 | 121 | 11 | 175 | 11 | 69 4 80 | M6 | 12
MIF0801
WBKO6R-11 MIF0801.5 245 69 (M3) WBK40DF | 40 | 95 | 142 | 102 | 66 | 33 18 | 106 | 120 | 11 | 175 | 11 | 69 4 80 | M6 | 12
MIF0802
WBK40DF | 40 | 95 | 142 | 102 | 81 | 48 | 18 | 106 | 121 | 11 | 175 | 11 | 69 4 80 | M6 | 12




Support Unit

4-Pdp Q PCD @V

Both Sides

6-@x ay

ZPCD @W

H1%30mm

H#%30mm

4-P dp QPCD BV
Both Sides

ay ZPCDOW

.

BKE!

Model No Bearing ngflcca Lé;rg(i}\‘) Pr%l\lc;ad St,i?f(:']aelss ?c?rrélgf Lock nut V\(/Eg)]t FndSize

(N) (N/um) | (N-cm) M D3 L3 d L4 L5
WBK 17DF | 17TTAC47 P4 | 21900 26600 2150 750 14 M17x1 37 18 1.9 17 81 23
WBK 20DF | 20TAC47 P4 | 21900 | 26600 2150 750 14 M20x1 40 18 1.9 20 81 23
WBK 25DF | 25TAC62 P4 | 28500 | 40500 | 3150 1000 23 M25x1.5 45 20 31 25 89 26
WBK 25DF | 25TAC62 P4 | 46500 | 81500 | 4300 1470 31 M25x1.5 45 20 34 25 104 26
WBK 30DF | 30TAC62 P4 | 29200 | 43000 | 3350 1030 24 M30x1.5 50 20 3.0 30 89 26
WBK 30DF [ 30TAC62 P4 | 47500 | 86000 | 4500 1520 33 M30x1.5 50 20 33 30 104 26
WBK 35DF | 35TAC72 P4 | 31000 | 50000 | 3800 1180 28 M35x1.5 55 22 34 35 92 30
WBK 35DF | 35TAC72 P4 | 50500 | 100000 | 5200 1710 37 M35x1.5 55 22 43 35 107 30
WBK 40DF | 40TAC72 P4 | 31500 | 52000 | 3900 1230 28 M40x1.5 60 22 3.6 40 92 30
WBK 40DF | 40TAC72 P4 | 51500 | 104000 | 5300 1810 38 M40x1.5 60 22 4.2 40 107 30

Support Unit

Lock Nut
i Max
Order Coding Model No. Surface treatment el
RNO5 Black Oxide
RNO5 N M5xP0.5 Electyoless Nickel
_ Plating
RNO6 Black Oxide
RNO6 N M6 x PO.75 Electyoless Nickel 25
— Plating
RNO8 Black Oxide
RNO8 N M8x P1.0 Electyoless Nickel 50
— Plating
RN10 Black Oxide
RN1O N M10x P10 Electyoless Nickel 95
— Plating
RN12 Black Oxide
RN12 N M12xPL0 Electyoless Nickel 140
— Plating
RN15 Black Oxide
RN15 N M15x P1.0 Electyoless Nickel 240
_ Plating
RN17 Black Oxide
RN17 N M17xP1.0 Electyoless Nickel
_ Plating
RN17TW M17x PLO Black Oxide o
RNITW_N (for WBK17-31) Electyoless Nickel
_ Plating
RN20 Black Oxide
RN20 N M20x P10 Electyoless Nickel 480
— Plating
RN20W M20 x PO Black Oxide o
RN20W N (for WBK17-31) Electyoless Nickel
_ Plating
RN25 Black Oxide
RN25 N M25x P1.5 Electyoless Nickel 860
_ Plating
RN25W M25 x P15 Black Oxide 5o
RN25W N (for WBK17-31) Electyoless Nickel
— Plating
RN30 Black Oxide
RN30 N M30x P15 Electyoless Nickel
— Plating
RN30W M30x PL5 Black Oxide -
RN30OW N (for WBK17-31) Electyoless Nickel
— Plating
RN35 Black Oxide
RN35 N M35xPL5 Electyoless Nickel
— Plating
RN35W M35x P15 Black Oxide 000
RN35W N (for WBK17-31) Electyoless Nickel
_ Plating
RN40 Black Oxide
RN40 N M40x PL5 Electyoless Nickel
— Plating
RN4OW M40 x P15 Black O><|d§ a0
RN4OW N (for WBK17-31) Electyoless Nickel
— Plating

Black Oxide
(Fit for normal conditions)

Nickel Plating
(fit for dust-free conditions)

Black Oxide
(Fit for normal conditions)

Nickel Plating
(fit for dust-free conditions)




Support Unit

Suggested Mounting End

BK Type
C Cc
M % (=]
I \ 8
ARO[ A\
o0 -
1 : §
_____ U | I N | I & US| | WS | S A | —
{ _ 8 @
iET0
ST .6 |
R
R
BK Type
ez OD of the shaft end Thread Le et i e
Model No ballscrew B B = Sleeve Nut
d D M S C
-0.005
BK10 12/14/15 10 8 36 15 M10x1 16 5.5
-0.012
-0.005
BK12 14/15/16 12 10 36 15 M12x1 14 55
-0.012
-0.005
BK15 18/20 15 12 40 20 M15x1 12 6
-0.014
-0.005
BK17 20/25 17 15 53 23 M17x1 17 7
-0.014
-0.005
BK20 25/28 20 17 53 25 M20x1 15 8
-0.014
-0.005
BK25 32/36 25 20 65 30 M25x1.5 18 9
-0.014
-0.005
BK30 36/40 30 25 72 38 M30x1.5 25 9
-0.015
-0.005
BK35 45 35 30 81 45 M35x1.5 28 12
-0.015
-0.005
BK40 50 40 0015 35 93 50 M40x1.5 35 15

Support Unit

FK, EK, AK Type

M n
\_\ )
Y (o]
\ e
~ - -
= o
= il el Ll il = =
81 W[ =
'l —a
— S -—
— F e -
C C C G C C
£23 0
E= B (O] — RO ] || M—
LYot (0 ) ha— Ld__ﬂ_@ o115 h—
= = et 1
= -H= arl
L
FK 2 FK B EK, AK B
Length of
OD of the OD of the shaft end Thread the sleeve
Model No ballscrew B E F nut
d D M S C
-0.005
FKO5 EK05 - 8 5 4 25 6 M5x0.5 7 3.5
-0.012
-0.005
FKO6 EK06 - 8 6 4 28 8 M6x0.75 8 5
-0.012
-0.005
FKO8 EK08 - 10/12 8 6 32 9 M8x1 10 5.5
-0.012
-0.005
FK10 EK10 AK10 12/14/15 10 0012 8 36 15 M10x1 11 55
-0.005
FK12 EK12 AK12 14/15/16 12 0012 10 36 15 M12x1 11 5.5
-0.005
FK15 EK15 AK15 18/20 15 0.014 12 40 20 M15x1 13 10
-0.005
FK17 - - 20/25 17 15 53 23 M17x1 15 10
-0.014
-0.005
FK20 EK20 AK20 25/28 20 0.0 17 53 25 M20x1 17 11
-0.005
FK25 - - 32/36 25 20 65 30 M25x1.5 20 15
-0.014
-0.005
FK30 - - 36/40 30 25 72 38 M30x1.5 25 9
-0.015




Support Unit

FF, EF, BF, AF Type

[a
(o}
o2
+ 1 i B 'D ________
g Q
G888
F 8%
E
sl !
o
i
Il <l P
]
T
= -1 I
S |
1
FF Type EF, BF, AF Types
OD of the OD of the shaft end
Model No. ballscrew E B F €
d D
-0.005
FFO6 EFO06 - - 8 6 9 57 6.8 0.8
-0.012
-0.005
- EF - - 1 N . .
08 0 6 001 9 5 6.8 0.8
-0.005
FF10 EF10 BF10 AF10 12/14/15 8 0.012 10 7.6 7.9 0.9
-0.005
FF12 EF12 BF12 AF12 14/15/16 10 0,00 11 9.6 9.15 1.15
-0.005
FF15 EF15 BF15 AF15 18/20 15 0.014 13 143 10.15 1.15
-0.005
FF17 - BF17 - 20/25 17 16 16.2 13.15 1.15
-0.014
i -0.005
FF20 EF20 BF20 AF20 25/28/30 20 0.014 19(16) 19 15.35(13.35) 1.35
-0.005
FF25 - BF25 - 30/32/36 25 0.014 20 239 16.35 1.35
-0.005
FF30 - BF30 - 36/40 30 21 28.6 17.75 1.75
-0.015
-0.005
- - BF35 - 40/45 35 22 33 18.75 1.75
-0.015
BF40 50 40 10005 23 38 19.75 1.95
0015 ' ' SCREW TECHNOLOGY CO.,LTD.

Add:No 988 Wsong Road,Wuzhong Disrict,Suzhou,China

Tel:+86-0512-66903936,+86-0512-65073935

E-mail: IMD@screwtech.cn

Web: http://www.screw-tech.com/ V-3.0

20210607




